Species/Tures	Vol	ume	Weighte	ed Average	Hi	gh	L	w
Species/Type	tons	cords	per ton	per cord	per ton	per cord	per ton	per cord
Aspen Pulp	13140	5840	\$12.58	\$28.30	\$19.10	\$42.98	\$5.00	\$11.25
Aspen Bolts	1500	667	\$12.77	\$28.73	\$19.10	\$42.98	\$8.00	\$18.00
Oak Pulp	5720	2080	\$7.28	\$20.01	\$11.50	\$31.63	\$3.65	\$10.04
Oak Bolts	2005	729	\$20.56	\$56.53	\$31.60	\$86.90	\$6.00	\$16.50
Mixed Hardwood Pulp	6310	2743	\$6.80	\$15.64	\$11.50	\$26.45	\$4.00	\$9.20
Tamarack	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00
Basswood Pulp	140	73	\$0.25	\$0.48	\$0.25	\$0.48	\$0.25	\$0.48
Mixed Hardwood Bolts	115	50	\$16.62	\$38.22	\$22.00	\$50.60	\$6.52	\$15.00
Jack Pine Pulp	80	38	\$12.79	\$27.24	\$12.79	\$27.24	\$12.79	\$27.24
Red Pine Pulp	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00
White Pine Pulp	595	283	\$8.64	\$18.15	\$15.60	\$32.76	\$6.00	\$12.60
Red Pine Comingled	9580	4258	\$32.29	\$72.64	\$38.20	\$85.95	\$16.00	\$36.00
White Pine Comingled	4265	2031	\$20.81	\$43.69	\$27.10	\$56.91	\$5.00	\$10.50
	m	bf	mbf		mbf		mbf	
Red Oak Sawlog	526	6.18	\$3	54.88	\$38	0.00	\$27	0.00
White Oak Sawlog	12	6.9	\$3	39.18	\$40	0.00	\$17	0.00
Black Oak Sawlog	4	0	\$1	74.25	\$27	5.00	\$12	0.00
Red Maple Sawlog	17	.76	\$2	41.77	\$380.00		\$13	0.00
Sugar Maple Sawlog	(C	#C	DIV/0!	\$0.00		\$0.00	
Mixed Hardwood Sawlog	5	6	\$265.00		\$370.00		\$130.00	
Red Pine Sawlogs	22	2.2	\$1	75.23	\$20	0.00	\$15	0.00
White Pine Sawlogs	18	6.9	\$1	23.70	\$16	0.00	\$12	0.00

AVERAGE SUCCESSFUL BIDS – As of November 12, 2020 Clark County Forest

TIMBER SALE BID RESULTS

CLARK COUNTY FOREST

Tract	Numbe	er of Bids			
Number	Qualified	Non-Qualified	High Bidder	Appraised Value	Bid Value
16-19	1	0	Lake States Timber	\$9,236.00	\$ 9,255.75
30-19	0	0	No Bid	\$8,264.00	\$ -
39-19	0	0	No Bid	\$9,190.10	\$ -
45-19	0	0	No Bid	\$7,013.00	\$ -
48-19	0	0	No Bid	\$4,963.00	\$ -
50-19	1	0	TNT Timber	\$44,227.30	\$ 44,889.05
6-20	0	0	No Bid	\$7,326.00	\$ -
8-20	2	0	Lake States Timber	\$6,796.00	\$ 14,115.00
14-20	1	0	Martin's Forestry	\$35,740.00	\$ 35,997.00
15-20	0	0	No Bid	\$9,541.80	\$ -
16-20	2	0	TNT Timber	\$139,504.90	\$ 156,030.00
17-20	0	0	No Bid	\$18,568.20	\$ -
20-20	0	0	No Bid	\$12,825.10	\$ -
21-20	0	0	No Bid	\$41,038.30	\$ -
23-20	0	0	No Bid	\$53,642.70	\$ -
24-20	1	0	Lake States Timber	\$10,205.20	\$ 21,662.50
25-20	1	0	Ryder Logging	\$65,225.60	\$ 66,860.00
26-20	0	0	No Bid	\$28,037.80	\$ -
27-20	0	0	No Bid	\$32,224.95	\$ -
28-20	8	0	Futurewood Corp	\$33,733.90	\$ 53,694.80
29-20	0	0	No Bid	\$20,478.00	\$ -
30-20	2	0	Futurewood Corp	\$17,373.70	\$ 20,899.40
31-20	1	0	Russ Thums	\$10,412.40	\$ 10,417.20
32-20	2	0	Martin's Forestry	\$14,826.30	\$ 17,785.00
33-20	1	0	Russ Thums	\$31,080.00	\$ 31,082.90
34-20	3	0	Buffalo Lumber & Tie	\$21,724.20	\$ 22,757.80
35-20	0	0	No Bid	\$15,036.80	\$ -
36-20	6	0	Martin's Forestry	\$42,710.40	\$ 49,725.00
37-20	0	0	No Bid	\$16,480.50	\$ -
38-20	0	0	No Bid	\$22,714.25	\$ -
39-20	7	0	Kron Forest Products	\$46,238.00	\$ 61,507.00
40-20	0	0	No Bid	\$12,995.10	\$ -
41-20	0	0	No Bid	\$3,111.20	\$ -
42-20	6	0	Kron Forest Products	\$28,409.60	\$ 38,200.00
43-20	2	0	Kron Forest Products	\$14,146.00	\$ 14,460.00
44-20	8	0	Kron Forest Products	\$43,492.00	\$ 62,502.00
45-20	5	0	Nicholas Syryczuk	\$109,961.45	\$ 137,915.00
46-20	3	0	Nicholas Syryczuk	\$51,073.50	\$ 73,445.00
*47-20	6	0	Martin's Forestry	\$77,748.78	\$ 95,120.70
48-20	0	0	No Bid	\$26,095.40	\$ -
49-20	0	0	No Bid	\$7,678.00	\$ -
Totals	69	0		\$1,211,089.43	\$ 1,038,321.10

*lump sum December Bid Opening Direct Sale Unsold

Number of Tracts Offered	41
Number of Tracts Receiving Bids	21
Number of Tracts with Qualifying Bids	21
Number of Tracts with No Bids	20

Total Appraised Value of Tracts Sold	\$914,127.98
Total Bid Value of Tracts Sold	\$ 1,038,321.10
Percent Increase Over Appraised Value	14%

Total Number of Bids	69	Cord Eq
Total Number of Qualifying Bids	69	Average
Avg. Number of Qualifying Bids Per Tract	3.3	Average

Cord Equivalent Volume Sold	21,747.00
Average Cord Equivalent/Sold Tract	1036
Average \$ per Cord Equivalent Sold	\$ 47.75

Acres Sold	1,222.00
Average Acreage of Sold Tracts	58
Average \$ per Acre Sold	\$ 849.69

Timber Sale Tracts #30-19, #39-19, #45-19, #48-19, #6-20, #15-20, #17-20, #20-20, #21-20, #23-20, #26-20, #27-20, #29-20, #35-20, #37-20, #38-20, #40-20, #41-20, #48-20, and #49-20 did not sell on the December 10, 2020 Clark County Forest timber sale bid opening. These tracts are available for direct purchase at 10% above minimum bid value unless otherwise agreed upon by the Forestry and Parks Department as per department policy. Contact the Clark County Forestry Department for more information. Thank you.

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





Bid Comparison Report

Tract: 16-19 Minimum Bid

Minimum Bid: 9,236.00

Lake States Timber LLC #1056

9,255.75 🗹

Lake Stat	es Tim	ber LLC #	1056 inc 🗌
	Vol	Value	
20T-MX	370	4.000	1,480.00
20T-OO	135	3.650	492.75
15T-AB	80	15.000	1,200.00
20T-A	770	7.900	6,083.00
	Bid	Total:	9,255.75

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100% . _____

Bid Comparison Report

Tract: 50-19

Minimum Bid: 44,227.30

TNT Timber #1035

44,889.05 🗹

Inc 🗌
910.00
080.00
109.65
,576.00
023.20
130.40
749.80
150.00
160.00
889.05

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 8-20

Minimum Bid: 6,796.00

Lake States Timber LLC #1056

Joe Weyer Logging #1054

Lake States Timber LLC #1056 Inc			Joe Weye	er Logg		Inc 🗌	
	Vol	Value			Vol	Value	
20T-MX	180	5.000	900.00	20T-MX	180	5.000	900.00
20T-OO	25	5.000	125.00	20T-OO	25	5.000	125.00
20T-A	770	17.000	13,090.00	20T-A	770	9.000	6,930.00
	Bid	Total:	14,115.00		Bid	Total:	7,955.00

14,115.00 **☑** 7,955.00 □

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **14-20**

Minimum Bid: 35,740.00

Martin's Forestry #1058

35,997.00 🗹

Martin's F	Inc		
	Vol	Value	
1 8T-PW	590	27.100	15,989.00
18T-PR	730	27.100	19,783.00
20T-MX	30	7.500	225.00
	Bid	Total:	35,997.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 16-20

Minimum Bid: 139,504.90

TNT Timber #1035

Wiitala & Vozka Logging LLC #1038

156,030.00 ☑ 140,535.00 □

				V V I	itala	α VOZ	ka Loggir
TNT Tim	ber #10	35	Inc 🗌	Wiitala &	Vozka	Logging	LLC # Inc
	Vol	Value			Vol	Value	
10-MR	8	130.000	1,040.00	10-MR	8	135.000	1,080.00
10-00	17	120.000	2,040.00	10-00	17	135.000	2,295.00
1 8T- PW	2760	21.550	59,478.00	18T-PW	2760	14.000	38,640.00
18 T- PR	2600	33.770	87,802.00	18T-PR	2600	34.000	88,400.00
15T-HB	20	6.520	130.40	15T-HB	20	11.000	220.00
20T-MX	700	6.520	4,564.00	20T-MX	700	11.000	7,700.00
15T-OB	50	6.000	300.00	15T-OB	50	11.000	550.00
20T-OO	120	4.000	480.00	207-00	120	11.000	1,320.00
20T-A	30	6.520	195.60	20T-A	30	11.000	330.00
	Bid	Total:	156,030.00		Bid	Total:	140,535.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **24-20**

Minimum Bid: 10,205.20

Lake States Timber LLC #1056

21,662.50 🗹

Lake Stat	es Tim	ber LLC #	1056 Inc 🗌				
	Vol	Value					
18T-PW	20	10.000	200.00				
20T-MX	170	5.000	850.00				
20T-OO	110	5.000	550.00				
15T-AB	50	18.750	937.50				
20T-A	1020	18.750	19,125.00				
	Bid Total:						

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **25-20**

Minimum Bid: 65,225.60

Ryder Logging #1061

66,860.00 🗹

Ryder Lo	Inc 🗌		
	Vol	Value	
10-PW	99	120.000	11,880.00
10-OR	7	300.000	2,100.00
20T-PW	310	8.000	2,480.00
20T-MX	1670	8.000	13,360.00
15T-OB	160	8.000	1,280.00
20T-OO	470	8.000	3,760.00
15T-AB	700	8.000	5,600.00
20T-A	3300	8.000	26,400.00
	Bid	66,860.00	

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 28-20

Minimum Bid: 33,733.90

Futurewood Corp #1052 Dairyland Forest Prod #1017 Nicholas Syryczuk #1059 Solberg Trucking LLC #1032 Ryder Logging #1061 Koerner Forest Products LTD Yoder Logging #1357 Russ Thums #1060 53,694.80 47,431.00 45,630.00 43,488.80 43,150.00 37,480.20 34,960.00 33,940.00 □

····																			
Koerner I	Forest	Products L1	D Inc 🗌	Solberg	Truckin	g LLC #103	32 Inc 🗌	Futurewo	od Cor	o #1052	Inc 🗌	Dairyland	d Fores	t Prod #10	17 Inc 🗌	Nicholas	Syryczi	Jk #1059	Inc 🔲
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	ĺ
10-MX	3	130.000	390.00	10-MX	3	130.000	390.00	10-MX	3	200.000	600.00	10-MX	3	225.000	675.00	10-MX	3	315.000	945.00
10-OW	7	270.000	1,890.00	10-OW	7	170.000	1,190.00	10-OW	7	200.000	1,400.00	10-OW	7	275.000	1,925.00	10-OW	7	315.000	2,205.00
10-OR	8	270.000	2,160.00	10-OR	8	270.000	2,160.00	10-OR	8	275.000	2,200.00	10-OR	8	300.000	2,400.00	10-OR	8	315.000	2,520.00
20T-MX	450	9.510	4,279.50	20T-MX	450	10.000	4,500.00	20T-MX	450	9.580	4,311.00	20T-MX	450	14.050	6,322.50	20T-MX	450	5.000	2,250.00
15T-OB	100	9.510	951.00	15T-OB	100	30.000	3,000.00	15T-OB	100	9.580	958.00	15T-OB	100	14.050	1,405.00	15T-OB	100	16.000	1,600.00
207-00	310	9.510	2,948.10	20T-OO	310	7.520	2,331.20	20T-OO	310	9.580	2,969.80	20T-OO	310	14.050	4,355.50	20T-OO	310	5.000	1,550.00
15T-AB	440	11.510	5,064.40	15T-AB	440	34.220	15,056.80	15T-AB	440	19.100	8,404.00	15T-AB	440	14.050	6,182.00	15T-AB	440	16.000	7,040.00
20T-A	1720	11.510	19,797.20	20T-A	1720	8.640	14,860.80	20T-A	1720	19.100	32,852.00	20T-A	1720	14.050	24,166.00	20T-A	1720	16.000	27,520.00
	Bid	Total:	37,480.20		Bid	Total:	43,488.80		Bid	Total:	53,694.80		Bid	Total:	47,431.00		Bid	Total:	45,630.00
Ryder Lo	gging #	1061	Inc 🗌	Yoder Lo	gging #	1357	Inc 🗌	Russ Thu	ıms #1(60	Inc 🗌				/				
Ì	Vol	Value			Vol	Value			Vol	Value									
10-MX	3	300.000	900.00	10-MX	3	140.000	420.00	10-MX	3	130.000	390.00								
10-OW	7	300.000	2,100.00	10-OW	7	180.000	1,260.00	10-OW	7	170.000	1,190.00								
10-OR	8	300.000	2,400.00	10-OR	8	270.000	2,160.00	10-OR	8	270.000	2,160.00								
20T-MX	450	12.500	5,625.00	20T-MX	450	10.500	4,725.00	20T-MX	450	10.000	4,500.00								
15T-OB	100	12.500	1,250.00	15T-OB	100	15.000	1,500.00	15T-OB	100	10.000	1,000.00								
20T-00	310	12.500	3,875.00	20T-OO	310	10.500	3,255.00	20T-OO	310	10.000	3,100.00								
15T-AB	440	12.500	5,500.00	15T-AB	440	14.000	6,160.00	15T-AB	440	10.000	4,400.00								
20T-A	1720	12.500	21,500.00	20T-A	1720	9.000	15,480.00	20T-A	1720	10.000	17,200.00								
L	Bid	Total:	43,150.00		Bid	Total:	34,960.00		Bid	Total:	33,940.00								

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **30-20**

Minimum Bid: 17,373.70

Futurewood Corp #1052

Dairyland Forest Prod #1017

Futurewo	od Cor	p #1052	Inc 🗌	Dairyland	Fores	t Prod #10	17 Inc 🗌
	Vol	Value			Vol	Value	
10-PW	17	120.000	2,040.00	10-PW	17	120.000	2,040.00
20T-PW	50	8.100	405.00	20T-PW	50	8.800	440.00
20T-MX	345	8.120	2,801.40	20T-MX	345	8.800	3,036.00
15T-OB	70	8.120	568.40	15T-OB	70	8.800	616.00
20T-OO	120	8.120	974.40	20T-OO	120	8.800	1,056.00
15T-AB	130	12.060	1,567.80	15T-AB	130	8.800	1,144.00
20T-A	1040	12.060	12,542.40	20T-A	1040	8.800	9,152.00
<u> </u>	Bid Total:				Bid	Total:	17,484.00

20,899.40 🗹 17,484.00 🗔

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 31-20

Minimum Bid: 10,412.40

Russ Thums #1060

10,417.20 🗹

Russ Thu	Inc		
	Vol	Value	
10-MX	9	130.000	1,170.00
10-OW	3	170.000	510.00
10-OR	14	270.000	3,780.00
20T-PW	10	9.180	91.80
20T-MX	190	9,180	1,744.20
15T-OB	80	9.180	734.40
20T-OO	180	9.180	1,652.40
20T-A	80	9.180	734.40
	Bid	Total:	10,417.20

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SC FSI

SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 32-20

Minimum Bid: 14,826.30

Martin's Forestry #1058

Byers Forestry #1120

				Uy	0101	01030	y π 1 1 4 0
Martin's F	orestr	y #1058	Inc 🗌	Byers Fo	restry #	#1120	Inc 🗌
	Vol	Value			Vol	Value	
10-MX	2	275.000	550.00	10-MX	2	200.000	400.00
10-00	14	275.000	3,850.00	10-00	14	200.000	2,800.00
10-OW	5	275.000	1,375.00	10-OW	5	200.000	1,000.00
10-OR	16	275.000	4,400.00	10-OR	16	300.000	4,800.00
20T-MX	140	7.000	980.00	20T-MX	140	5.500	770.00
15T-OB	130	25.000	3,250.00	15T-OB	130	22.000	2,860.00
20T-OO	380	7.000	2,660.00	20T-OO	380	5.500	2,090.00
15T-AB	30	8.000	240.00	15T-AB	30	22.000	660.00
20T-A	60	8.000	480.00	20T-A	60	5.500	330.00
	Bid	Total:	17,785.00		Bid	Total:	15,710.00

17,785.00 ☑ 15,710.00 □

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 34-20

Minimum Bid: 21,724.20

Buffalo Lumber & Tie #1015

AAA Hardwoods

Yoder Logging #1357

AAA Hard	lwoods	3	Inc 🗌	Buffalo L	umber	& Tie #1015	inc 🗌	Yoder Log	gging #	¥1357	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value	
10-MX	5	133.000	665.00	10-MX	5	200.000	1,000.00	10-MX	5	140.000	700.00
10-OW	19	250.000	4,750.00	10-OW	19	285.000	5,415.00	10-OW	19	190,000	3,610.00
10-OR	36	271.000	9,756.00	10-OR	36	295.000	10,620.00	10-OR	36	270.000	9,720.00
20T-MX	230	10.000	2,300.00	20T-MX	230	4.340	998.20	20T-MX	230	9.000	2,070.00
15T-OB	180	19.500	3,510.00	15T-OB	180	18.050	3,249.00	15T-OB	180	16.000	2,880.00
20T-OO	340	5.000	1,700.00	20T-OO	340	4.340	1,475.60	20T-OO	340	9.000	3,060.00
	Bid	Total:	22,681.00		Bid	Total:	22,757.80		Bid	Total:	22,040.00

22,757.80 ☑ 22,681.00 □ 22,040.00 □

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 36-20

Minimum Bid: 42,710.40

Martin's Forestry #1058 Twin Forest Products LLC #1036 Byers Forestry #1120 Briarton Logging Company Theodore Strzok Logging #1033 Russ Thums #1060

49,725.00 🗹	
49,368.00 🗆	
45,808.80 🗆	
43,020.00 🗆	
43,000.00 🗆	
42,900.00 🗆	

Russ Thu	ims #1(060	inc 🗌	Theodore	e Strzol	k Logging	#103 Inc 📃	Byers Fo	orestry #	#1120	Inc 🗌	Martin's F	Forestr	y #1058	inc 🗌	Twin Fore	est Pro	ducts LLC	#10 inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-MX	7	130.000	910.00	10-MX	7	270.000	1,890.00	10-MX	7	286.000	2,002.00	10-MX	7	300.000	2,100.00	10-MX	7	305.000	2,135.00
10-OW	24	170.000	4,080.00	10-OW	24	270.000	6,480.00	10-OW	24	286.000	6,864.00	10-OW	24	325.000	7,800.00	10-OW	24	365.000	8,760.00
10-OR	66	270.000	17,820.00	10-OR	66	270.000	17,820.00	10-OR	66	286.000	18,876.00	10-OR	66	300.000	19,800.00	10-OR	66	358.000	23,628.00
20T-MX	260	12.250	3,185.00	20T-MX	260	10.250	2,665.00	20T-MX	260	6.580	1,710.80	20T-MX	260	7.700	2,002.00	20T-MX	260	1.000	260.00
15T-OB	360	12.250	4,410.00	15T-OB	360	10.250	3,690.00	15T-OB	360	23.500	8,460.00	15T-OB	360	26.400	9,504.00	15T-OB	360	25.100	9,036.00
20T-OO	900	12.250	11,025.00	20T-00	900	10.250	9,225.00	20T-OO	900	6.580	5,922.00	20T-OO	900	7.700	6,930.00	20T-OO	900	4.500	4,050.00
15T-AB	70	12.250	857.50	15T-AB	70	10.250	717.50	15T-AB	70	23.500	1,645.00	15T-AB	70	17.200	1,204.00	15T-AB	70	19.700	1,379.00
20T-A	50	12.250	612.50	20T-A	50	10.250	512.50	20T-A	50	6.580	329.00	20T-A	50	7.700	385.00	20T-A	50	2.400	120.00
	Bid	Total:	42,900.00		Bid	Total:	43,000.00		Bid	Total:	45,808.80		Bid	Total:	49,725.00		Bid	Total:	49,368.00
Briarton L	ogging	Company	Inc																
	Vol	Value																	

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 39-20

Minimum Bid: 46,238.00

Kron Forest Products LLC #1021 TNT Timber #1035 Wiitala & Vozka Logging LLC #1038 Bridge Creek Logging #1049 Byers Forestry #1120 Martin's Forestry #1058 Solberg Trucking LLC #1032 61,507.00 58,042.85 55,550.00 52,637.00 50,496.80 49,209.00 48,910.00 □

· · · · · · · · · · · · · · · · · · ·				1		/		ы. —				1		· · · · · · · · · · · · · · · · · · ·		11	··		
TNT Tim	ber #10	35	Inc 🔄	Bridge Ci	reek Lo	gging #104	19 inc	Wiitala &	Vozka	Logging L	LC # Inc	Solberg 7	Frucking	y LLC #103	2 Inc 🔄	Martin's F	orestry	/ #1058	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
18T-PW	20	16.850	337.00	18T-PW	20	30.050	601.00	18T-PW	20	8.000	160.00	18T-PW	20	20.000	400.00	18T-PW	20	28.100	562.00
18T-PR	1720	33.380	57,413.60	18T-PR	1720	30.050	51,686.00	18T-PR	1720	32.000	55,040.00	18T-PR	1720	28.000	48,160.00	18T-PR	1720	28.100	48,332.00
20T-MX	35	8.350	292.25	20T-MX	35	10.000	350.00	20T-MX	35	10.000	350.00	20T-MX	35	10.000	350.00	20T-MX	35	9.000	315.00
	Bid	Total:	58,042.85		Bid	Total:	52,637.00		Bid	Total:	55,550.00		Bid	Total:	48,910.00		Bid	Total:	49,209.00
			,								·								·
Kron Fore	est Proc	lucts LLC	#10 Inc	Byers For	restry #	1120	Inc 🗌					11							
	Vol	Value			Vol	Value													
18T-PW	20	5.000	100.00	18T-PW	20	28.820	576.40												
18T-PR	1720	35.600	61,232.00	18T-PR	1720	28.820	49,570.40												
20T-MX	35	5.000	175.00	20T-MX	35	10.000	350.00												
	Bid	Total:	61,507.00		Bid	Total:	50,496,80												
			,																
				1															



CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 42-20 Minimum Bid: 28,409.60

38,200.00 🗹 Kron Forest Products LLC #1021 34,980.00 Wiitala & Vozka Logging LLC #1038 34,489.50 Bridge Creek Logging #1049 TNT Timber #1035 32,805.30 Byers Forestry #1120 31,165.00 31,033.00 Martin's Forestry #1058 Inc Kron Forest Products LLC #10 Inc Bridge Creek Logging #1049 Inc Wiitala & Vozka Logging LLC # Inc Martin's Forestry #1058 Inc TNT Timber #1035 Vol Value Vol Value Value Vol Value Vol Value 18T-PR 1090 32.000 18T-PR 1090 28.400 30,956.00 18T-PR 1090 35.000 38.150.00 18T-PR 1090 31.550 34,389.50 18T-PR 1090 30.020 32,721.80 34.880.00 20T-MX 50.00 20T-MX 10 10.000 100.00 100.00 77.00 10 5.000 10 8.350 83.50 20T-MX 10 10.000 20T-MX 10 7.700 Bid Total: Bid Total: Bid Total: 31,033.00 Bid Total: 38,200.00 34,489.50 Bid Total: 32,805.30 34,980.00 Byers Forestry #1120 Inc Value Vol

Vol

1090 28,500

Bid Total:

10 10.000

31,065.00

31,165.00

100.00

20T-MX

18T-PR

20T-MX

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **43-20**

Minimum Bid: 14,146.00

Kron Forest Products LLC #1021

TNT Timber #1035

					4 I I I I I I I I I I I I I I I I I I I	INCI #	1000				
TNT Tim	ber #10	35	Inc 🗌	Kron Fore	Kron Forest Products LLC #10 Inc						
	Vol	Value			Vol	Value					
18T-PR	760	14.720	11,187.20	18T-PR	760	16.000	12,160.00				
20T-S	140	13.720	1,920.80	20T-S	140	10.000	1,400.00				
20T-MX	110	6.520	717.20	20T-MX	110	5.000	550.00				
20T-OO	20	4.000	80.00	20T-OO	20	5.000	100.00				
20T-A	50	6.520	326.00	20T-A	50	5.000	250.00				
	Bid	Total:	14,231.20		Bid	Total:	14,460.00				

14,460.00 🗹 14,231.20 □

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 44-20

Minimum Bid: **43,492.00**

Kron Forest Products LLC #1021	62,502.00 🗹
Byers Forestry #1120	61,869.50 🗆
Martin's Forestry #1058	56,715.00 🗆
Bridge Creek Logging #1049	54,433.50 🗆
TNT Timber #1035	51,960.00 🗆
Wiitala & Vozka Logging LLC #1038	51,040.00 🗆
Solberg Trucking LLC #1032	48,841.60 🗆
Twin Forest Products LLC #1036	48,010.00 🗆

Vol Value Vol Vol Value						•••••								,						
18T-PW 130 36.550 4,751.50 18T-PW 130 20.000 2,600.00 18T-PW 130 32.150 4,179.50 18T-PW 130 22.000 2,860.00 18T-PW 130 33.500 4,355.0 18T-PR 1560 36.550 57,018.00 18T-PR 1560 29.610 46,191.60 18T-PR 1560 32.150 50,154.00 18T-PR 1560 33.500 52,260.00 18T-PR 1560 35.00 50,154.00 20T-OO 10 10.000 100.00 20T-OO 10 10.000 100.00 100.00 100.00 100.00 16T-PR 1560 32.000 48,841.60 TNT Timber #1035 Inc Inc Vol Value Vol Value 18T-PR 1560 32.000 49,920.00 18T-PR	Byers Fo	restry #	1120	Inc 🗌	Solberg 7	Frucking	g LLC #10:	32 Inc 🗌	Bridge C	reek Lo	gging #10	149 Inc 🗌	Kron For	est Proc	ducts LLC	#10 Inc 🗌	Martin's F	orestry	/ #1058	Inc 🗌
18T-PR 1560 36.550 57,018.00 18T-PR 1560 29.610 46,191.60 18T-PR 1560 32.150 50,154.00 18T-PR 1560 38.200 59,592.00 18T-PR 1560 33.500 52,260.0 20T-OO 10 10.000 100.00 Bid Total: 48,841.60 18T-PR 1560 32.150 50,154.00 18T-PR 1560 38.200 59,592.00 18T-PR 1560 33.500 52,260.0 Bid Total: 61,869.50 Bid Total: 48,841.60 Bid Total: 54,433.50 Bid Total: 62,502.00 Bid Total: 56,715.0 Twin Forest Products LLC #10 Inc Vol Value Vol Value 18T-PW 130 2.000 1,040.00 18T-PW 130 14.450 1,878.50 18T-PR 56 32.050 49,998.00 18T-PR 1560 29.000 45,240.00 18T-PR 1560 32.050 49,998.00 20T-OO 10 8.000 20T-OO 10 8.350 83.50 20T-OO 10 40.00 40.00 20T-OO 10		Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
20T-OO 10 10.000 100.00 20T-OO 10 5.000 50.00 20T-OO 10 5.000 50.00 20T-OO 10 10.000 100.00 Bid Total: 61,869.50 20T-OO 10 5.000 54,433.50 Bid Total: 62,502.00 20T-OO 10 10.000 100.00 Bid Total: 56,715.0 Fwin Forest Products LLC #10 Inc Wiitala & Vozka Logging LLC # Inc TNT Timber #1035 Inc Inc Vol Value Vol Value 18T-PW 130 8.000 1,040.00 18T-PW 130 14.450 1,878.50 1,878.50 18T-PR 1560 32.000 49,992.000 18T-PR 1560 32.000 49,992.000 20T-OO 10 8.350 83.50	18T-PW	130	36.550	4,751.50	18T-PW	130	20.000	2,600.00	18T-PW	130	32.150	4,179.50	18T-PW	130	22.000	2,860.00	18T-PW	130	33.500	4,355.00
Bid Total: 61,869.50 Bid Total: 48,841.60 Bid Total: 54,433.50 Bid Total: 62,502.00 Bid Total: 56,715.0 Twin Forest Products LLC #10 Inc Wiitala & Vozka Logging LLC # Inc TNT Timber #1035 Inc Inc Inc Vol Value 18T-PW 130 8.000 1,040.00 18T-PW 130 14.450 1,878.50 18T-PW 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.050 49,998.00 20T-OO 10 8.000 80.00 20T-OO 10 8.350 83.50 83.50	18T-PR	1560	36.550	57,018.00	18T-PR	1560	29.610	46,191.60	18T-PR	1560	32.150	50,154.00	18T-PR	1560	38.200	59,592.00	18T-PR	1560	33.500	52,260.00
Twin Forest Products LLC #10 Wiltala & Vozka Logging LLC # Inc TNT Timber #1035 Inc Vol Value Vol Value Vol Value 18T-PW 130 21.000 2,730.00 18T-PW 130 8.000 1,040.00 18T-PW 130 14.450 1,878.50 18T-PR 1560 29.000 45,240.00 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.050 49,998.00 20T-OO 10 4.000 40.00 20T-OO 10 8.000 80.00 20T-OO 10 8.350 83.50	20T-OO	10	10.000	100.00	20T-OO	10	5.000	50.00	20T-OO	10	10.000	100.00	20T-OO	10	5.000	50.00	20T-OO	10	10.000	100.00
Vol Value Vol Value 18T-PW 130 21.000 2,730.00 18T-PW 130 8.000 1,040.00 18T-PW 130 14.450 1,878.50 18T-PR 1560 29.000 45,240.00 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.050 49,998.00 20T-OO 10 4.000 80.00 20T-OO 10 8.350 83.50		Bid	Total:	61,869.50		Bid	Total:	48,841.60		Bid	Total:	54,433.50		Bid	Total:	62,502.00		Bid	Total:	56,715.00
Vol Value Vol Value 18T-PW 130 21.000 2,730.00 18T-PW 130 8.000 1,040.00 18T-PW 130 14.450 1,878.50 18T-PR 1560 29.000 45,240.00 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.050 49,998.00 20T-OO 10 4.000 80.00 20T-OO 10 8.350 83.50																				
18T-PW 130 21.000 2,730.00 18T-PW 130 8.000 1,040.00 18T-PW 130 14.450 1,878.50 18T-PR 1560 29.000 45,240.00 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.050 49,998.00 20T-OO 10 8.000 80.00 20T-OO 10 8.350 83.50	Twin Fore	est Proc	lucts LLC	#10 Inc	Wiitala &	Vozka	Logging L	LC # Inc	TNT Tim	ber #10	35	Inc 🗌								
18T-PR 1560 29.000 45,240.00 18T-PR 1560 32.000 49,920.00 18T-PR 1560 32.050 49,998.00 20T-OO 10 40.00 20T-OO 10 80.00 20T-OO 10 8.350 83.50		Vol	Value			Vol	Value			Vol	Value									
20T-OO 10 4.000 40.00 20T-OO 10 8.000 80.00 20T-OO 10 8.350 83.50	18T-PW	130	21.000	2,730.00	18T-PW	130	8.000	1,040.00	18T-PW	130	14.450	1,878.50								
	18T-PR	1560	29.000	45,240.00	18T-PR	1560	32.000	49,920.00	18T-PR	1560	32.050	49,998.00								
Bid Total: 48,010.00 Bid Total: 51,040.00 Bid Total: 51,960.00	20T-OO	10	4.000	40.00	20T-OO	10	8.000	80.00	20T-OO	10	8.350	83.50								
	Bid Total: 48,010.0		48,010.00	Bid Total: 51,040.00		Bid Total:			51,960.00											

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140



SCS-FM/COC-00083G FSC 100%

4,510.00

6,215.00

15,730.00

126,810.00

410 11.000

565 11.000

Bid Total:

20T-OO 1430 11.000

20T-MX

15T-OB

20T-OO 1430

410

565

7.000

15.000

5.000

Bid Total:

2,870.00

8,475.00

7,150.00

112,790.00

Bid Comparison Report

Tract: 45-20

Minimum Bid: 109,961.45

Nicholas Syryczuk #1059											137	,915.00	0 🔽						
	Country Forest Products #1016											132,071.00 🗆							
	Theodore Strzok Logging #1033 126,810.00 🗆																		
	Northwest Hardwoods Inc #1027 123,927.00																		
	Briarton Logging Company 112,790.00 🗆																		
Forest Pro	oducts #	1016 Inc 🗌	Nicholas \$	Syrycz	uk #1059	Inc 🗌	Northwes	t Hard	woods Inc	#102 Inc 🗌	Theodore	Strzol	k Logging	#103 Inc 🗌	Briarton L	.ogging	J Company	Inc 🗌	
Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value		
10 1:	21.000	1,210.00	10-PW	10	121.000	1,210.00	10-PW	10	120.000	1,200.00	10-PW	10	120.000	1,200.00	10-PW	10	120.000	1,200.00	
22 1	31.000	2,882.00	10-BA	22	300.000	6,600.00	10-BA	22	130.000	2,860.00	10-BA	22	130.000	2,860.00	10-BA	22	180.000	3,960.00	
23 2	01.000	4,623.00	10-MX	23	370.000	8,510.00	10-MX	23	250.000	5,750.00	10-MX	23	250.000	5,750.00	10-MX	23	220.000	5,060.00	
44 40	01.000	17,644.00	10-OW	44	400.000	17,600.00	10-OW	44	357.000	15,708.00	10-OW	44	350.000	15,400.00	10-OW	44	280.000	12,320.00	
207 40	01.000	83,007.00	10-OR	207	380.000	78,660.00	10-OR	207	357.000	73,899.00	10-OR	207	350.000	72,450.00	10-OR	207	340.000	70,380.00	
30	2.000	60.00	20T-PW	30	6.000	180.00	20T-PW	30	3.000	90.00	20T-PW	30	11.000	330.00	20T-PW	30	6.000	180.00	
140	2.000	280.00	20T-BA	140	0.250	35.00	20 T -BA	140	3.000	420.00	20T-BA	140	11.000	1,540.00	20Т-ВА	140	0.500	70.00	
75	8.000	600.00	15T-HB	75	22.000	1,650.00	15T-HB	75	26.000	1,950.00	15T-HB	75	11.000	825.00	15T-HB	75	15.000	1,125.00	

1,640.00 20T-MX

15T-OB

14,690.00

5,720.00

123,927.00

4.000

26.000

4.000

Bid Total:

410

565

Country Forest

10-PW

10-BA

10-MX

10-OW

10-OR

20T-PW

20T-BA

15T-HB

20T-MX

15T-OB

20T-OO 1430

410

565

Bid Total:

8.000

15.000

7.000

3,280.00

8,475.00

10,010.00

132,071.00

20T-MX

15T-OB

20T-OO 1430

6.000

6.000

565 22.000

Bid Total:

410

2,460.00

12,430.00

8,580.00

137,915.00

20T-MX

15T-OB

20T-OO 1430

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 46-20 Minimum Bid: 51,073.50

Nicholas Syryczuk #1059 73,445.00 🗹 Lake States Timber LLC #1056 67,350.00 52,545.00 Dairyland Forest Prod #1017 Lake States Timber LLC #1056 Inc Dairyland Forest Prod #1017 Inc III Nicholas Syryczuk #1059 Inc 🗌 Value Vol Vol Value Vol Value 10-PR 11 150.000 11 120.000 1,320.00 10-PR 11 120.000 1,320.00 1,650.00 10-PW 45 120.000 5,400.00 10-PW 45 120.000 5,400.00 10-PW 45 121.000 5,445.00 7 120.000 840.00 10-MR 7 150.000 1,050.00 10-MR 2,205.00 7 315.000 8 315.000 2,520.00 10-OW 8 170.000 1,360.00 10-OW 8 200.000 1,600.00 10-OW 4 270.000 1,080.00 10-OR 4 275.000 1,100.00 10-OR 4 315.000 1,260.00 20T-PW 110 6.500 715.00 20T-PW 110 7.500 825.00 20T-PW 110 6,000 660.00 20T-MX 860 4.250 3,655.00 7.500 6,450.00 5.000 4,300.00 20T-MX 860 20T-MX 860 15T-OB 30 15.000 450.00 15T-OB 30 7.500 225.00 15T-OB 30 16.000 480.00 4.250 20T-OO 20T-00 360 1,530.00 20T-OO 360 7.500 2,700.00 360 5.000 1,800.00 4250 12,000 51,000.00 20T-A 4250 7.500 31,875.00 20T-A 4250 12.500 53,125.00 67,350.00 Bid Total: Bid Total: 52,545.00 Bid Total: 73,445.00

10-PR

10-MR

10-OR

20T-A

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 47-20

Minimum Bid: 77,748.78

 Martin's Forestry #1058
 95,120.70 ☑

 Northwest Hardwoods Inc #1027
 87,928.54 □

 Nicholas Syryczuk #1059
 84,674.88 □

 Country Forest Products #1016
 81,174.00 □

 Theodore Strzok Logging #1033
 79,746.60 □

 Byers Forestry #1120
 79,002.22 □

Theodore Strzek Logging #103 Inc Country Forest Products #1016 Nicholas Syryczuk #1059 Inc Northwest Hardwoods Inc #102 Nicholas Syryczuk #1059 Inc Nicholas Syryczuk #1059 Nicholas Nicholas Syryczuk #1059 Nicholas Syryczuk #1059 Nicholas Nicho							<u> </u>								• - ,						,
10-PW 15.9 0.000 0.00 10-PW 16.9 0.000 0.00 20T-PW 85 0.000<	Theodore	e Strzok	Logging #1	03 Inc 🗌	Martin's F	Forestry	#1058	Inc 🗌	Country I	Forest F	Products #1	016 Inc[] N	licholas S	Syryczu	ık #1059	Inc 🗌	Northwes	t Hardw	oods Inc	#102 Inc 🗌
10-PR 11.2 0.000 0.00 10-PR 10-PR 11.2 0.000 0.00 10-PR 10-PR 11.2 0.000 0.00 10-PR		Vol	Value			Vol	Value			Vol	Value				Vol	Value			Vol	Value	
10-MR 2.76 0.000 0.000 10-MR 2.76 0.000 0.00 10-OW 16.9 0.000 10-OR 168 0.000 10-OR 10-OR 169 0.000 10-OR 10-OR 10-OR 10-OR 10-OR 10-OR 10-OR 10-OR 10-OR 10	10-PW	15.9	0.000	0.00	10-PW	15.9	0.000	0.00	10-PW	15.9	0.000	0.0	D 10	0-PW	15.9	0.000	0.00	10-PW	15.9	0.000	0.00
10-OW 16.9 0.000 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	10-PR	11.2	0.000	0.00	10-PR	11.2	0.000	0.00	10-PR	11.2	0.000	0.0	D 10	0-PR	11.2	0.000	0.00	10-PR	11.2	0.000	0.00
10-OR 168 0.000 0.00 20T-PW 85 0.000 0.00 20T-PW 35 0.000 0.00 20T-PW 35 0.000 0.00 16T-OB 265 0.000 0.00 16T-OB 265 0.000 0.00 20T-OO 770 0.000 0.00 20T-OO 770 0.000 0.00 20T-OO 770 0.000 0.00<	10-MR	2.76	0.000	0.00	10-MR	2.76	0.000	0.00	10-MR	2.76	0.000	0.0	D 10	0-MR	2.76	0.000	0.00	10-MR	2.76	0.000	0.00
20T-PW 85 0.000 0.00 20T-PW 85 0.000 20T-PW 85 0.000 20T-PW 85	10-OW	16.9	0.000	0.00	10-OW	16.9	0.000	0.00	10-OW	16.9	0.000	0.0	o ∥10	0-OW	16.9	0.000	0.00	10-OW	16.9	0.000	0.00
20T-MX 35 0.000 0.00 15T-OB 265 0.000 0.00 20T-OC 770 0.000 20T-OC 770 0.000 20T-OC 770 0.000 20T-OC 770	10-OR	168	0.000	0.00	10-OR	168	0.000	0.00	10-OR	168	0.000	0.0	D 10	0-OR	168	0.000	0.00	10-OR	168	0.000	0.00
15T-OB 265 0.000 0.00 10T-OB 20T-OO 770 0.000 0.00 0.00 20T-OO 770 0.000 0.00 0.00 20T-OO 770 0.000 0.00 0.00 0.00 20T-OO 770 0.000 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	20T-PW	85	0.000	0.00	20T-PW	85	0.000	0.00	20T-PW	85	0.000	0.0	20	OT-PW	85	0.000	0.00	20T-PW	85	0.000	0.00
20T-OO 770 0.000 0.00 20T-OO 770 0.000 0.00 20T-OO 770 0.000 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00	20T-MX	35	0.000	0.00	20T-MX	35	0.000	0.00	20T-MX	35	0.000	0.0	20	OT-MX	35	0.000	0.00	20T-MX	35	0.000	0.00
LumpBi 1 746.600 79,746.60 LumpBi 1 120.700 95,120.70 LumpBi 1 174.000 81,174.00 LumpBi 1 674.880 84,674.88 LumpBi 1 928.540 87,928.54 Bjd Total: 79,746.60 Bid Total: 95,120.70 Bid Total: 81,174.00 Bid Total: 81,674.88 LumpBi 1 928.540 87,928.54 Byers Forestry #1120 Inc	15T-OB	265	0.000	0.00	15T-OB	265	0.000	0.00	15T-OB	265	0.000	0.00) 15	5T-OB	265	0.000	0.00	15T-OB	265	0.000	0.00
Bid Total: 79,746.60 Bid Total: 95,120.70 Bid Total: 81,174.00 Bid Total: 84,674.88 Bid Total: 87,928.54 Byers Forestry #1120 Inc Inc	20T-00	770	0.000	0.00	20T-OO	770	0.000	0.00	207-00	770	0.000	0.0	20	0T-OO	770	0.000	0.00	20T-OO	770	0.000	0.00
Byers Forestry #1120 Inc Vol Value 10-PW 15.9 0.000 0.00 10-PR 11.2 0.000 0.00 10-MR 2.76 0.000 0.00	LumpBi	1	746.600	79,746.60	LumpBi	1	120.700	95,120.70	LumpBi	1	174.000	81,174.00) ∬L(umpBi	1.6	374.880	84,674.88	LumpBi	1 9	928.540	87,928.54
Vol Value 10-PW 15.9 0.000 0.00 10-PR 11.2 0.000 0.00 10-MR 2.76 0.000 0.00		Bid	Total:	79,746.60		Bid	Total:	95,120.70		Bid	Total:	81,174.00) _		Bid ⁻	Total:	84,674.88		Bid [•]	Total:	87,928.54
10-PW 15.9 0.000 0.00 10-PR 11.2 0.000 0.00 10-MR 2.76 0.000 0.00	Byers Fo	restry #	1120	Inc 🗌					·												
10-PR 11.2 0.000 0.00 10-MR 2.76 0.000 0.00		Vol	Value																		
10-MR 2.76 0.000 0.00	10-PW	15.9	0.000	0.00																	
	10-PR	11.2	0.000	0.00																	
10-OW 16.9 0.000 0.00	10-MR	2.76	0.000	0.00								-									
	10-OW	16.9	0.000	0.00																	

168

85

35

770

265

0.000

0.000

0.000

0.000

0.000

1 002.220

Bid Total:

0.00

0.00

0.00

0.00

0.00

79,002.22

79,002.22

10-OR

20T-PW

20T-MX

15T-OB

20T-OO

LumpBi

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140



SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 33-20

Minimum Bid: **31,080.00**

Russ Thums #1060

31,082.90 🗹

Russ Thu	ms #10	060	Inc
	Vol	Value	
10-PW	32	120.000	3,840.00
10-MX	8	130.000	1,040.00
10-0W	28	170.000	4,760.00
10-OR	32	270.000	8,640.00
20T-PW	130	12.430	1,615.90
20T-MX	210	12.430	2,610.30
15T-OB	200	12.430	2,486.00
20T-OO	420	12.430	5,220.60
20T-A	70	12.430	870.10
	Bid	Total:	31,082.90